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Version 1

Problem 1.
Simplify.
(10x*y~ 1) (—13x%?)
o A. —3x%
—130x?
y3
—130x8
y2
e D. —130x%

e B.

e C.

Problem 2.
Simplify.
12x0 x 8 y6 x~7

Problem 3.
Simplify Completely.  (11x*> — 15x+19) — (—3x* — 6x +4)

A.8x2—9x+15

B. 14x* —9x+23
C. 14x* —9x+ 15
D. 14x% +21x+15

Problem 4.
Multiply.  (2x—6)(x? +2x+2)

A 233 —2x2—8x—12
B.2x3 — 2% +4x—12
C.2x3 4+ 10x% —8x— 12
D. 2x3 + 10x% +4x— 12

Problem 5.
—8x17 42048 — 12x°

455

Simplify completely.

A 2x12 — 553

B.2x'24+5x3 -3
C.2x12 —5x3 43
D. —8x!'7 42048



Version 2

Problem 1.

Simplify.
49x% (y4)4
Tx—Ty—28

' X3y12

o D. 7x!1y#

Problem 2.
Simplify.
9x—3 %6 yll 57

o A. —Ox8yl!

e D.9x!?

Problem 3.
Simplify Completely. ~ (18x*> —13x+419) — (—6x*> —5x+5)

A.24x%> —8x+ 14
B. 24x> 4 18x+ 14
C.24x* —8x+24
e D.12x>—8x+14

Problem 4.
Multiply.  (3x—6)(x*> +3x—2)

A3 +15x2 —24x+ 12
B.3x +3x2 —6x+12
C.33 4+ 1522 —6x+ 12
e D.3x%+3x2—24x+ 12

Problem 5.
—12x10 —9x° + 1553

_3x3

Simplify completely.

A 4xB —3x2 45
B. 4x"3 +3x* -5
C. 4x13 + 342

D. —12x10 —9x°



Version 3

Problem 1.
Simplify.
1224 (3%)°
Tvdyt
o A .4

oB.4—y2
1

C. = 8,2

[ 4xy

o D. 4x8y!0

Problem 2.
Simplify.

2)68 )C2 le xfl

Problem 3.
Simplify Completely.  (20x> — 15x+9) — (—5x — 2x+2)

A.25x2 —13x+7
B.25x2 — 13x+ 11
C.15x* —13x+7
D. 25x% + 17x+7

Problem 4.
Multiply.  (6x—6)(x*> —3x+3)

A. 6x3 —24x> +36x—18
B. 6x° — 12x% 4+ 36x— 18
C. 6x> —24x% + 18x— 18
o D.6x°—12x*+18x— 18

Problem 5.
—14x" —28x7 42142

—7x2

Simplify completely.

A 2x12 45 +3
B. —14x'"4 —28x7
C.2x"2 +4x -3
D. 2x!12 +4x°



Version 4

Problem 1.
Simplify.
2028 (y_6)3
5x 5y 23
o A 4x13y

x13

e B. m
4x3
y41

o D. 4x3y*

o C.

Problem 2.
Simplify.

4x~8 x5 6 x4

4
.AXT

—4y5

e B.
7

o C.4x'7y0

4y6

e D —
7

Problem 3.
Simplify Completely.  (10x*> — 19x + 14) — (—6x> — 3x +2)

A.16x2 —16x+16
B. 4x%> — 16x+ 12

C.16x* —16x+12
D. 16x% 4 22x+ 12

Problem 4.
Multiply.  (6x—6)(x*> +3x+2)

A. 63 +24x2 +12x— 12
B.6x3 + 1222+ 12x— 12
C.60°+ 1242 —6x— 12
D. 6x3 +24x%> —6x— 12

Problem 5.
Simplify completely.

28x14 —21x7 — 35x2
—7x2

—4x12 3 -5
L —4x12 43 45
C—Ax12 430
L 28x14 —21x7

e o o o
oNwp



Version 5

Problem 1.
Simplify.
(12xy~7)(8x"y")
o A.96x°

e B.20xX°

Problem 2.
Simplify.
(=52 y0z)*
o A. —20x!2y?4z*
e B. 625x!2y*4z*
o C. —20x%%z

o D. 625x7y107

Problem 3.
Simplify Completely.  (20x* — 16x+19) — (—9x? — 4x +2)

A.29x% +20x+ 17
B. 11x2—12x+17
C.29x% — 12x+21
D. 29x% — 12x+ 17

Problem 4.
Multiply.  (2x—2)(x> +2x—2)

A 23 +2x2 —4x+4
B.2x3 +2x* —8x+4
C.2x3 4+ 6x% —4x+4
e D.2x3 +6x2—8x+4

Problem 5.

—6x'7 4127 —9x?
Simplify completely. A a

_3x2

A —6x17 +120°
B.2x!15+4x3 -3
C.2x —4x3

D.2x® — 43 +3



Version 6

Problem 1.
Simplify.
(3xy) (9x%y°)
o A.27x!0y30

e B. 12x7y!!

3
o C. 727)(
y

e D.27x"y!!

Problem 2.
Simplify.

_9x5 y! y10 56

Problem 3.
Simplify Completely.  (17x* — 12x+9) — (—3x%> — 6x+ 6)

A.20x2 —6x+15
B.20x2 —6x+3
C.20x>+18x+3
e D. 14x> —6x+3

Problem 4.
Multiply.  (4x —4)(x> +3x+2)

A 43 +8x2+8x—38
B.4x* +16x2+8x—38
C.4x3 +16x>—4x—38
o D.4x3+8x*—4x—8

Problem 5.
—20x!0 — 25x7 + 10x*

_5_x4

Simplify completely.

A. 4x12 4553

B.4x12 -5 +2
C.4x"24+5x° -2
D. —20x'0 —25x7



Version 7

Problem 1.
Simplify.
(=9x!y™H(12x7%)°)
o A.3x%?

—108x"?

10
—108

" x70 y24

e D. —108x%y?

Problem 2.
Simplify.

2xx0 y? x4

2y2

o A, —
xlO

e B.2x!%?
o C. —2x'%2

e D.2x!2

Problem 3.
Simplify Completely.  (20x*> — 17x+8) — (—4x> — 5x+2)

A. 16x2— 12x+6
B.24x* — 12x+6
C.24x2 —12x+ 10
o D.24x*4+22x+6

Problem 4.
Multiply.  (6x—5)(x® 4 2x+3)

A. 63+ 17x2+8x—15
B. 6x° +7x*+18x— 15
C.6x +7x*+8x—15
D. 6x3 +17x2 +18x — 15

Problem 5.

—12x'0 4+ 15x% — 9x°
Simplify completely. Xty al

_3x5

A 4x" —5x* 43
B. —12x!0 4 15x°
C. 4x!! —5x*

D. 4x" 4+ 5x* =3



Version 8

Problem 1.
Simplify.

91x!4

yS
91

OBXTy6

(—13x"%y7 ) (=7 %)

e C.91x'%

e D. —20x'%

Problem 2.
Simplify.

332 y15 57

o A.3x0yb

e B.3x!0

o C.

¥

3y
X

15
*D -5

_3y15

Problem 3.

Simplify Completely.  (14x*> — 18x+15) — (—5x* —4x +2)

A. 9% — 14x+13

B. 19x% — 14x+ 17
C. 19x*> +22x+ 13
D. 19x2 — 14x+ 13

Problem 4.
Multiply.

(6x —3)(x* —3x+3)

A. 63 —15x2+18x—9
B.6x3 —21x*+27x—9
C.6x3 —21x*+18x—9

e D.6x° —15x2+27x—9

Problem 5.

Simplify completely.

—14x17 — 2148 +28x°
_7x5

A 2x12 33 +4
B. 2x!2 4+ 353

C. —14x'7 =218
D.2x'24+3x3 —4



Version 9

Problem 1.
Simplify.
(7x°y ) (—9x~'y")
o A —2x%°

e B. —63x%°
—63
: x9y90
63x10

oD ——
y21

o C

Problem 2.
Simplify.
(_5 )C6 y—5 Z_4 )2

—10x5
Y
e B. %xi
yUz
25x8
372
—10x!?

108

o A.

e C.

e D.

Problem 3.
Simplify Completely.  (12x*> — 17x+4 18) — (—3x*> —2x +4)

A.15x2 4+ 19x + 14
B. 15x> — 15x+22
C.15x2 —15x+ 14
e D.9x%—15x+ 14

Problem 4.
Multiply.  (4x—6)(x*> —3x—3)

A.4x3 —6x> —12x+ 18
B. 4x> —18x* +6x+ 18
C.4x3 — 182 — 12x+ 18
e D.4x® —6x* +6x+18

Problem 5.

10 14 _ 8 7_ 4 4
Simplify completely. al a al

—2x*

C=5x10 43 42
10x" — 8x7
—5x10 43 -2
. —5x10 4453

e o o o
N ®m >



Version 10

Problem 1.
Simplify.
48)66()1_4)5
16x5y*28
X
[ A _’7,},748
e B.3x®

3x11

' y48

o D.3x!1y?

Problem 2.
Simplify.

_5x2 46 y13 6

Problem 3.
Simplify Completely.  (15x* — 12x+10) — (—=7x* — 5x +6)

A 2232 —Tx+ 16
B.22x2 4+ 17x+4
C.8x2—7x+4

e D.22x2 —7x+4

Problem 4.
Multiply.  (5x—4) (x> —3x—3)

A58 —11x%2—15x+ 12
B.5x3 — 1922 — 15x+ 12
C.583 —11x2=3x+12
e D.5x3—19x2 —3x+12

Problem 5.
—4x'® 4 8x7 — 10x°

_2x5

Simplify completely.

A 2xM 4 4x2 -5
B. —4x!0 4+ 8x7
C.2x""—4x2 +5
D. 2x11 — 452



Answers.

Version 1.
1.D 2.C

Version 2.
1.D 2.B

Version 3.
1.D 2.C

Version 4.
1.A 2.D

Version 5.
1.A 2.B

Version 6.
1.D 2.B

Version 7.
1.D 2.B

Version 8.
1.C 2D

Version 9.
1.B 2.B

Version 10.

1B 2A

3.C

3.A

3.A

3.C

3.D

3.B

3.B

3.D

3.C

3.D

4.A

4.D

4.A

4.C

4.B

4.D

4.C

4.B

4.B

4.D

5.C

5.B

5.C

5.B

5D

5.C

5A

5D

5A

5.C



